WDA & NA EXAMIT:0017

S9 A% STUE! TE TOYUT gt Wies i 7 hEl WG 99 9% A Wi

&1 1.l : ADU-S-LET TieTur gieTeht TTshA
H W 1989475
L0084
TeTuT giecent A
TTTuTd
oA : 1 "ue R | e TuTisk : 300
A F W

- uﬂmm@ﬁ%wm,mwwmgﬁmﬁmmmﬁﬁsgﬁaﬁéﬁmw,mm@
gmgmmﬁmﬁ#@lﬂﬁﬁm%,ﬁsﬁaﬁuﬂmgﬁwﬁwﬁi
2.mmr@ﬁ:omnm—mﬁ,zﬁﬂwm,ﬁﬂm&muﬂwgﬁwaag'gmA, B, C a1 D I,
mﬁ@ﬁm%ﬁﬁmﬁw&%mﬂmmﬁwmﬁ%lﬁmﬁﬁmﬁ
qm/ﬁ@rﬁﬁﬁ‘aﬁfﬁm-mﬁmaﬂﬁmml
3. v whem e W Wy § Ry g AeE # SR A FHATE
forgen 21 wlewr gfeem W ek o 7 fod|
4. 3w vliem g # 1203:‘&11!!1(m)mmﬁlwm%mmﬁﬁw%ummﬁmm
(m)ﬁqmﬁlﬁﬁﬁﬁmﬁﬂqﬁ,ﬁ%mm-mm%mmﬁﬂ%wﬁaﬂmﬁmaﬁﬁmﬁ
mmm%,mmmﬁmaﬁaﬁmwwmm%mmwaww%u
5. mmmﬁmwﬁﬁqwm~mmﬁﬁﬁfﬁﬁ%lm—mﬁﬁ'ﬁwﬁ%m%@
6. Tsft AT % FF GH €1
% w@%ﬁ%mﬁmgﬁ%ﬁ%%ﬁawﬁﬁ%mm-mmaﬁmmwﬁ,ma%u%ﬂwm—qﬂ%sma
Y TR ¥ R F R IW-TE A W R
8. aﬂqamﬁmﬁuﬁ?rﬁﬁm-mﬁmﬁ%mamuﬂm%wm%ﬁmm~maﬁﬁﬁﬁhé|aqTqa?raqq?r
Ty e IRRER @ SR TRt R
9. %= Fm ¥ fou TF whew gReek % 3 § ded 2|
10. TEE I & e TUe
a‘qﬂ?m—uﬁﬁ?ﬁhﬁnmﬁﬂwwaﬁﬁ%%ﬂmﬁmml
(i) o S 5 fore S AR I & | Sefhear g s v ¥ frg Ry e w e s % fer v 2 e R
M S 1 Tw-TAETE TE % ¥ H e W)
(ii)ﬂﬁ.'a%\'éswﬁaaﬂqaﬁﬁmmh%,ﬁﬁmmmw,wﬁﬁqwﬁﬁﬁ%@mmm%,
frr off 38 we % fore TwEER @ S e W v femn smem|
(iti) T Ifrear g0 FE W T A o I R, mmmmmqﬁﬁmw%,mwm%%ﬁaﬁém
et T smam|

99 W ! WE Thewr i Wie @l T el We a9 deh A Wi

Note : English version of the instructions is printed on the back cover of this Booklet.



1. ¥ x +log)o(1+2%) = xlog)y 5+logy, 6 #, 4. AR S, = nP+“—“n(n; Y9 &, st s, feit AP

ﬁx%ﬂé}sw%? "
% Ug n W& % AR HI giud a2, @

(@ 2, -3 e 37k 1 87
(b) e 2 @ F+Q
o (b) 2P+3Q
o (c) 20Q

(d) ©

2. f3enu@ wm (101110), +(110), & Fy%a
3R TR €, A 5. gt

(@-rx? +(r-px+(p-g)=0
(@) (111), 3R (100),

% T T 87
(b) (100), ¥R (111),

(@ (r-p)/lg-r) 1/2
(c) (101), 3R (101), |

() (p—-q)/l@-r) 1

(d) (100), 3 (100), © (g-r)/(p-q) 1

(d (r-p/(p-q) 1/2
3. g A A x ufral 3R x + 5 Fiow ¥ Agg
BT y duftral 3R 11—y wiew §1 AB 3R

BA M1 Torrm 1 x 3R y % 99 FHw: = 6. 3 E ¥9¥m 9g=w ¥ i A=BuUC 3, @

&7 W= E-(E-(E—-(E-(E-4)) f= & ¥
ord =T % FuH 27

(@) 833
(@ B'ucC

(b) 3 3R 4 AL Y

(c) 33IM8 () BAC

(d) 8 3R 8 (d BnC
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1. If 4. If S, :n_P+n(L;l)Q, where S, denotes

x +log;(1+2%) = xlog;g 5+10g;o 6 the sum of the first n terms of an AP,
then the common difference is

then x is equal to

(@ P+Q
(@ 2,3 | (b) 2P+ 3Q
(b) 2 only © 20
[ & @ o

(d) 3
5. The roots of the equation

2. The remainder and the quotient of the
binary division (101110), +(110), are
respectively

@-nx%+(r-px+(p-q)=0

are
(@) (111), and (100),

(b) (100), and (111), (@) (r-p)/lg-r), 1/2

(¢) (101), and (101), (b) (p-aq)/l@-r) 1

(d) (100}2 and (100)2 . (C) (q—?') /(.p_q)! 1

(d (r-p/(p-q) 1/2

3. The matrix A has x rows and x+95
columns. The matrix B has y rows and

11- y columns. Both AB and BA exist. 6. If E is the universal set and A= BUC,
What are the values of x and y then the set E — (E — (E - (E - (E - 4)))) is
respectively? same as the set

(a) 8 and 3 (@@ B'uC

(b) 3 and 4 (b)) BuC

(c) 3 and 8 (c) B nC

(d) 8 and 8 (d BnC
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7. AR A={x:x, 2H TS 8}, B={x:x, 5

TN 8} 3R C={x: x, 10 & T 8} &, @
AN(BNC) Toras sTmr 27

(@) A
(b) B
¢ C

(d) {x:x, 100 % T B}

8. Ifd o 3R B TR 1+ x+x2 =0F qA ¥,

A R [ )], ] e

[ ) 1 B

T 87
o 1500 s
@ |, 2} B | 9"

[ AL = [ -1 -1
@ | 2] A e

9. i |a| foFet QUi & Fru& @M = qwfar &,

= 3 | wF-3 v 27
1. |ab|=|al|b]

2. |la+b|<|a|+|b|
3. la-b|z]|la|-|b]|

= T2 7T e 1 T W wd I i)
(a) Haet 1 37 2
(b) FaA 2 IR 3
c) Had 1 AR 3
(d 1,23R3
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10. = PERMUTATION’ & 21& ¥ frey Rt

IS ST ST Fehd &7
(@) 19958400
(b) 19954800
¢) 19952400

(d) 39916800

11. 3l A=[4i_6 1 J 3R k=2l ®, &t

14i 6+4i
i=J—1%, @ kA fras Tyt 27

i

[ 2+ 3i 5
(a)

(b)

(c)

(d)

12. 90 |x-3)%+|x-3]-2=0 & @t

SREA( Hell b1 A1 Thet @1 37
(@) 2
(b) 3
(c) 4

(d) 6




7. If A= {x:xis a multiple of 2}, B={x: x is 10. How many different permutations can be

a multiple of 5} and C={x:x is a made out of the letters of the word
multiple of 10}, then An(BNC) is ‘PERMUTATION?
equal to
(@) 19958400
(@ A
(b) B (b) 19954800
¢ C (c) 19952400
(d) {x: x is a multiple of 100} (d) 309016800

8. If o and B are the roots of the equation

1+ x+ x2 =0, then the matrix product 11. If A= 4i-6 10 % o sibiaps
1B B 14i 6+4i 2i’
o
[a a][l B] i =+/~-1, then kA is equal to
: 2+3i S
is equal to
- @ [ 7. 2 3:'}
= i -1 -1
@ 14 5 ) | _; 4 ; p
' (b) 2-3i 5B
1 -1 o [=3 =1 [ - REE
€ |1 o @ 1 _4 5
(2-3i 7 ]
@ s "aea
9. If |a| denotes the absolute value of an 2 *
integer, then which of the following are
correct? (@ [ 2 + 3i 5 }
1. |ab|=|a||b| | T e

2. |a+b|<|a|+|b|

3. |a-blz]||a|-|Bl| 12. The sum of all real roots of the equation

Select the correct answer using the code |x -3 +|x~3|-2=0is
given below.
(@) 2
fa) 1 and 2 only
(b) 3
(b) 2 and 3 only
(c) 1 and 3 only @
(d 1,2 and 3 (d 6

ADU-S-LET/81A 5 | PiT.O



13. 48 fean m & o6 wfientor 16. 6% sfi 7l & fou grivms
X2 ~4x-logz P=0

% Al S 81 Wh Y P w1 = am

B . o6
cos? = sin2 2

b5 sinzg coszg
(@) % 1 A 41 87
® — o 2
(b) cos®
9 BLI (c) sin®
(d 1 (d) cos28

14. IR A TF o1 7egg B, @ adj AT - (adj AT

s 17, BT & 916 (x + )10 + (x — @10 F wER
T T fohHen sk &1

H wal it wear T 27
(@) A
- (@) 202
(b) 2|A|I, & ITcEHS T=E B
() WA =g, Rt Hife (afdy) =@ 2 (8 101
St AR © s
(d) TwHH g, Pmd wfR (7)) ad ?
ST AR R (d) 50
e 18. (1+%)50 % war # x % fww 9wl & ot
67 x 67 x 68 x 616 x... Jd Y& T TR 1 87
1 OH /187 (@) 226
(a) 6 (b) 299
(b) 36
50
© 216 ) 2
(@ 512 ()51
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13. It is given that the roots of the equation 16. The value of the determinant
x2 —4x-logy P=0 are real. For this,

6 .0
the minimum value of P is cos? 5 sin? 5
1 6 0
(@ - sin? = cos? =
2% 2 >
(b) & for all values of 6, is
64
1 (@ 1
(c) 81
(b) cos 6
(@ 1 (c) sin®
(d) cos 26

14. If A is a square matrix, then the value of
adj AT — (adj A7 is equal to

17. The number of terms in the expansion o

a) A
(a) (x + @)% + (x — @)!9C after simplification
(p) 2|A|I, where I is the identity is
matrix
(@ 202
(c) null matrix whose order is same as
that of A (b) 101
(d) unit matrix whose order is same as (¢) 51
that of A
(d) 50
15. The value of the product
1 15 el 1 . :
62 x6% x68 X616 x... up to infinite terms 18. In the expansion of (1+x)°°, the sum o

the coefficients of odd powers of x is
is

(@) 6 % =
ad

(b) 36 ) 2%
() 216 (c) 2°°
(d) S12 @ 5

ADU-S-LET/81A 7 [ P.T.C




_a_l 0 0
1 sl
(b) —| O b 0

) —|o0

—
o

(d —|0

ey

20. TF HAfh HI 4500 A1) i T 0 2| 98

nth 334l nd fme 3§ fam Aie fman @, 99
Fﬂﬁna%ﬁw%%aﬁéﬂé%wf&

IR a9, a1y, g, ... AP ¥ R, Frgs g
IR -2 7, @ aft A = e #§ ¥ fea
™ Y

(@) 24 T
(b) 34 T
(c) 125 fiFe
(d) 135 T
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21. G BN TS PUF n -4 ], Ries R

22. e B9 =E Nx N W TF =Y R 36 YFHR

IRYIG =L TR
(@, b R(c, d)=a+d=b+c

aft (a, b), (c, d)e Nx N & fae &1, @) 1=
ey T ®7

(@) & gufa
(b) FaS GAfE SR Gshe
(c) QeI T
(d) T TG

23. IR y=x+x2 +x3 +... 3Fd & %, e

x < 1%, @ = F & F-w wd@ 27

(@ x=—4_

l+y

Y
D). x=—"—
(b) ]

@ xz——

@ x=--Y



19. If @, b, ¢ are non-zero real numbers,
then the inverse of the matrix

(ol & b ©
A=|0 b O
0 0 ¢
is equal to
e - 0
G | © B -0
0 0 &
(a! o0 0
1 -1
(b) == 6 0
i O et
[ 1 @ 0
() % 0 10
“Flo 51
, @ 0 0
[ —=|a b
gbe 0 0 c|

20. A person is to count 4500 notes. Let
a, denote the number of notes he
counts in the nth minute. If
a =0y =Az =...=0)g = 150, and aq,
a1, Gyp, ... are in AP with the common
difference -2, then the time taken by
him to count all the notes is

(@) 24 minutes
(b) 34 minutes
(c) 125 minutes

(d) 135 minutes

ADU-S-LET/81A

21. The smallest positive integer n for which

N
[1+1_J =1, is
1-1

(@ 1
(b) 4
() 8
(d) 16

22. If we define a relation R on the set N x IV
as (a, ) R(c, d)<=a+d=b+c for all
(a, b), (¢, d)e N x N, then the relation is
(a) symmetric only
(b) symmetric and transitive only

(c) equivalence relation

(d) reflexive only

23. Ify=x+x2 +x3 +...up to infinite terms

where x <1, then which one of the
following is correct?

(@ x=--—L
1+y

el R

o x=12
@ x=-Y
y

@ x=-—Y
y

[ P.T.C



24. 9f¢ o R B WY 3x2 +2x+1=0 % g
8, @ a8 wiiewr, o g a+p! iR
B+a~! §, H-4 87
(@ 3x?% +8x+16=0
(b) 3x? -8x-16=0
(c) 3x2 +8x-16=0

(d x2+8x+16=0

25. ST ORI S ... 3Fd US| dF
logze log, e? log 5 et
T HH =T _7
(@) log,9 (b) O
fc) 1 (d) log.3

26. 16 @ & fog T =@ 9l =1 vy e s
2 & T el 9 B IF WE HB-IAR
Fial @mg el 81 =R e | o Rty
W®E dSA1 =Ed € R 3 T ARE @l W
AT TR &1 S TR TehR @ 96 T §7

(@ 24 x8!x8!
(b) (81)°3

() 210x8!x 8l
(d) 16!

27. k & fHFa mm & fou wiew Fom
kx+y+z=1 xt+ky+z==k 3R
x+y+kz=k? F F 77 T 27

(@) O (b) 1

() -1 (@) -2

ADU-S-LET/81A 10

28. Ifg

d a
1.342.3%4+.3.3% +.., +#.3" =(2—"—1E’Lb

®, O a 3R b A w1 R7
(@ n,?2

(b) n,3

¢ n+1,2

(d n+1, 3

29. APQR 1, 4R=g ?l AR tan(g) R
tan[g),ww.axhbmcﬂ%sq@%,
@ = W | - e R?
(@ a=b+c
(b) b=c+a
) c=a+h
(d) b=c
4

30. qﬁ:|z——‘=2%,a‘f|z|maaﬁmm%ﬂ%

b
SR 27

(@ 1++/3
(b) 1++/5
(c) 1-5
(df J5-1



24. If o. and P are the roots of the equation
3x2 +2x+1=0, then the equation
whose roots are o +f~ and B+a~! is

(@) 3x2%2+8x+16=0
(b)) 3x2-8x-16=0
(c) 3x%2+8x-16=0

(d) x2+8x+16=0

25. The value of

1 + : + . +... up to
logz e log, e? logj, g*
infinite terms
is
(@) loge 9 (b) ©
() 1 (d) log.3

26. A tea party is arranged for 16 people
along two sides of a long table with
eight chairs on each side. Four
particular men wish to sit on one
particular side and two particular men
on the other side. The number of ways
they can be seated is

(@) 24 x8!x8!
(b) (81>
(c) 210x8!x 8!
(d) 16!

27. The system of equations kx+y+z=1,
x+ky+z=kand x+y+kz= k2 has no
solution if k equals

(@ O (b) 1
€ -1 (@ -2
ADU-S-LET/81A 11

28. If

_@n-13%+b
4

1.342.32 +3.3% ... +1n.3"

then a and b are respectively

(@) n,2
(b) n,3
() n+1,2

(d n+l,3

29. In APQR, ZR = g If tan (g) and tan [g)

are the roots of the equation

ax? +bx+c= 0, then which one of the
following is correct?

(a) a=b+c
(b) b=c+a
() c=a+b

(d) b=c

z—4— =2, then the maximum value of

z
|z| is equal to

30. If

(@ 1++3
(b) 1++/5
(c) 1-4/5
(d) +5-1

[ P.T.O



31. Tl o % 25 m I @ w fog 4
for s|a &1 39 B 15° ® AR sa §
$E% Yicfersl sl a8 S0l 45° B 3
HAE | SYL F1Eed hl 18 Toher] 87

(@)

(b)

(c)

(d)

25 m

25/3 m

50 m

504/3 m

32. tan9° —tan27° — tan 63° + tan 81° % HH
foraer s 27

(@)

(b)

(c)

(d)

.

0

1

4

33. /3 cosec20° —sec 20° 1 AN frEad o

?7

(a)

(b)

()

4

2

1

(d -4

ADU-S-LET/81A
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34. H o H QAT A AR B H w6 yHR fa9ifE

om0 R R A-Bex SR

tanA:tanB=p:q56'I sin x 1 99 g%
T 7Y

(p+q) sina sino
o EEUIORE. g P
r-q ptq
sino - q) sino
w 2 () (p—-q)
pP—-q p+q

35. sin~! (%] s+ tan—1 (—;) 1 9 e SR 27

(@) O (b)

H|3

£ = (@)

N3

36. T @Y & 3T R IR ¥ TR F MY F

IAT I HET: 30° IR 45° B| FfE TR Hi
S hy & 3R @ ) I pp ®, @ e
T Y F9-9 g 37

= T3 T 2 1 E R e I g
(@) Fad 1 3R 3

(b) wHad 2 3R 3

(c) Had 1 3R 2

(d) 1,2 3R 3



31. The angle of elevation of a stationary 34. Angle o is divided into two parts A

cloud from a point 25 m above a lake is and B such that A-B=x and
15° and the angle of depression of its tan A:tan B=p:q. The value of
image in the lake is 45°. The height of sin x is equal to
the cloud above the lake level is - (p +q) sina p sino.
pP-q p+q
(@) 25 m
p sino —q) sino
(© @ P-O=0E
(b) 2543 m P-4 ptq
(c) S0 m 35. The value of
. -1(3 o 1
is equal to
32. The value of (@ O (b) %
tan9° — tan 27° — tan 63° + tan 81° T n
(c) - @ -
3 2
is equal to
36. The angles of elevation of the top of a
i tower from the top and foot of a pole are
(@ - respectively 30° and 45°. If hy is the
height of the tower and hp is the height
(b) © of the pole, then which of the following
are correct?
c) 1
“ L
3+43
d 4
. hy -hp _hp
J331 2
. i 2(h
33. The value of /3 cosec20° —sec20° is 3. (hp +hy) —4+43
equal to hp
(@ 4 Select the correct answer using the code
given below.
(b) 2 (@) 1 and 3 only
b) 2 and 3 onl
© 1 (b) y
() 1 and 2 only
[d) =% (d) 1,2 and 3

ADU-S-LET/81A 13 [P.T.0.



37. @™ BYS ABC ® aq-2b+c=0 I 40. sin™! x F T UH TRY Fave § g 27

o 27
cot[zjcot[g)aﬁlﬁﬂw 5 (_g, g)
(a) >
b) 3 (b) [-g g]
© >
. @ [o.]
(d) [0, n]

38. J1+sinA=- [sin% +cos-‘—;—]ﬂ—bpl % gfe

(@) Fad %<A<%
41. g (g, b), (0, 0), (~q —b) 3R (ab, b?) &

b 37
(b) WE<A<? (@) wi g & T g

(c) 3—;-<A<% (b) T I F A g
T =1 % iy
(d) O<A<% i ﬁ%
(d) W@

39. s ABC # 3fe
42. Halerg (AMRFE) ¥ 08 x+2y-22=9 W

sin? A +sin? B+sin? C _9

cos? A+cos? B+cos? C HireTr hl TraTg Foreeh SR R7
%,ﬁ}i'ﬂ%ﬂﬁ’%ﬁ'xw&'ﬁ%? (@) 2!@2
(a) THFIOG
(b) 3R
(b) HHSTG
() wAfaTE (c) 439fe
(d) 3 Hrofa (d) 53fe

ADU-S-LET/81A 14



37. In a triangle ABC, a-2b+c=0. 40. The principal value of sin™! x lies in the

The value of cot (%) cot (g) is interval
n T
@ 3 @ (53
- nom
5 (b) li_as 5]
(c) E
n
(d 1 (c) [0, 5]
38. J1+sinA =- (sin—;E +cos§] is true if (d) [0, 7]

3n oSn
a) — <A< — onl
(a) 2 5 4

41. The points (@ b), (0,0, (-a —b) and
ab, b?) are
(b) g <A< % only ( )

(a) the vertices of a parallelogram

(c) 2T <A< L
2 2 (b) the vertices of a rectangle
3n y
(d 0<A< 5 (c) the vertices of a square

(d) collinear
39. In triangle ABC, if

i 2 s 2 s D)
shn=A-fein” Bigin O =2 42. The length of the normal from origin to

2 2 2
cos® A+cos® B+cos“ C the plane x +2y-2z =9 is equal to

then the triangle is
(@) 2 units

(a) right-angled
(b) 3 units

(b) equilateral

(c) isosceles fe) 4 Tnits

(d) obtuse-angled (d) S units

ADU-S-LET/81A 15 [ P.T.O.




43,qﬁa’5@r{¥amg;ﬁma};’(0@_ 46. Ik a AN H « HESH wRw T, @ TRy

fog ?) Féw @l H g Ren % @ (@+ b)x (@ x b) Trar wmict 27
T R, @ A A -8 wd 20

(@) (a-b)
1. 00320L+c032[3=sin2'y 5
bl (G
2. sin2a+sin26=coszv (5 @+D)
3. sin?o +sin?B+siny =2 (c) (2a-b)
i faw MY e o1 Wil W W I R (d) (2a+b)
(@) FaA 1 3R 2
(b) a2 I 3 47. Beft w01 A fag Af+2j-36) ¥ B
(c) ¥ 1 3R 3 B(3i - j+5k) 9% faeenfia =0 & fou us
y 5 A F =1+ 3} +2k 1 v e s 3 9
= SetRE TR o e s fpamn @me
44, W3 x+y-3=03M x-y+3=0% &9 (@) 5TME
F R o § T @R x—+/3y+2v3 =0
@Iﬁx—y+1=0%§iﬁamiﬁ?ﬁm[_’,%| (b) 7qM2
= 8 8§ ®H-91 98l 87 (c) gqﬂz
(@ o=B (b) o>p @ 1073
(c) <P (d) o =2p

s om ok e e 48. Tordt wfew @ % forw
45. UF iV & ={ +2j- &, p =20 - j+ 3k 3R

V=2 + )+ 6k o R 1 2R T sk p A @ x T2+ 1d % j2+|d x k2
Hﬁmgmam%wg.;;:m%,mgaﬂ WW%?
gfaTor = 27 .
(@) |al?

(@) 3 gfe
(b) 243 g (b) 2(3

J3
4 5 T (c) 3[d

1
i ﬁqﬁz (@ 4la|?

ADU-S-LET/81A 16



43. If o, B and y are the angles which the

T—
vector OP (O being the origin) makes
with positive direction of the coordinate
axes, then which of the following are

correct?
1. cos?0 +cos?p = sin? ¥

2 +sin? B =cos?y

2. sin
3. sin?q +sin?B+sin?y =2

Select the correct answer using the code
given below.

(a) 1 and 2 only

(b) 2 and 3 only

fc) 1 and 3 only

(d) 1,2 and 3

44. The angle between the lines x+y—-3=0

and x — y+ 3 = 0is o and the acute angle
between the lines x —+/3y+2+3 = 0 and
V3x—-y+1=0 is B. Which one of the
following is correct?

(@ o=p (b) o>
() a<P (d) o =28

- 2 N o i & i s
45. let o=1+2j-k, B=2t-j+3k and

Y =20+ ]+ 6k be three vectors. If @ and
B are both perpendicular to the vector
~» ¥

5 and &-y =10, then what is the

magnitude of _5)?

(a) /3 units

(b) 23 units
J3

(c) 5 unit
(d) L unit
V3

ADU-S-LET/81A
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46. If @ and b are two unit vectors, then the

vector (@ + b) x (@ x b) is parallel to

(@) (a-Db)
(b) (a+b)

(c) (2a-Db)

(d) (@a+b)

47. Aforce F =1 +3]+2K acts on a particle to

displace it from the point Al +27- 3K)
to the point B(3f — j+ 5k). The work
done by the force will be

(@) S units
(b) 7 units
(c) 9 units

(d) 10 units

48. For any vector a

|d x T2+ |d x jI?+|a xk|?

is equal to

(@) |32

(b) 2|d|?
() 3la|?

d) 4|a|?

[ P.T.O.



49. -1 % IR IR el geN T =Afn a8 g 52. forgatlt (-3, 4,-8) 3R (5, -6, 4) = A

& 1% 3 vamm-waedt it e Gl w1 G At W@ Fw Xy-ad A gty F-a
e 10 m B 3R SF vareR-Taedt % sty ) ??
@ 8m ® I TN UNEE 9™ H LA el
feper &7 (@) [5,—5, o)
(@) 187 9 HiX
3 o o 2 B
(b) 15m T Hi (b) L——S*, P
(c) 12n 9 HiX
7 8
(d) 8nat Hix () (-5, 3 o]
50. forg (1, 3) i Y@1 2x+3y =62 g, 5 5 @ (Z, 5 OJ
W 4x+ y=4 % GHIR A9 7E 2, Fradt 37 3 3
5
(a) —ﬁgqﬁa
53. Al Y@edl, fFs fg-smgom (2, -1, 2) ik
3 |
(b) ﬁqﬁz (x,B,S)%,%?ﬂ%laﬂaﬁwz%,?ﬁxaﬂ
TR WA H=T -7
17
LR L (@) 52
(d) —‘/;—_7@2 (b) 4
fc) 2
51. I AR al + J+K, T+ b+ Kk 3R 1+ j+ck (@ 1
(@, b, c# 1) FHI™ §, @
1 1 1 54. gt 2x2 + 7y? = 20 % Anw g (1, 2) H
l-a 1-b l1-¢ Wl
+¥Iq &
%1 9 Thoe e 87
(@) <THF % e
(@ 0
wl 1 (b) EIA % IR, g wiwE W AL
(c) a+b+c (c) 3T w
(d) abe ' ' (d) TR

ADU-S-LET/81A 18



49. A man running round a racecourse notes

that the sum of the distances of two
flag-posts from him is always 10 m and

52. The point of intersection of the line

joining the points (-3,4,-8 and
(5, — 6, 4) with the XY-plane is

the distance between the flag-posts is

8 m. The area of the path he encloses is (a) (Z _8 0)
3 &
(a) 18n square metres
7 8
(b) 15m square metres (b) [__, =t 0]
3 3
(c) 12n square metres
7 &8
(d) 8n square metres i ==, =10
3 3
50. The distance of the point (1, 3) from the 7 8
line 2x + 3y = 6, measured parallel to the (d) (73;: 3’ 0)

line 4x+y=4, is

(@ —> units

13 53. If the angle between the lines whose
3 direction ratios are (2, -1,2) and
(b) i unit - (x, 3, 5) is 43, then the smaller value
of x is
(¢) /17 units
() 52
J17 .
d) —— units
L () 4
(c) 2
51. If the vectors ai+ j+Kk, i+bj+k and
(@ 1

i+ j+ck (a, b, c# 1) are coplanar, then
the value of

1 i 1 i 1 54. The position of the point (1, 2) relative to
l1-a 1-b 1l-c the ellipse 2x2 +’7’y2 =20 is
15 eqnal to (a) outside the ellipse
(@) _O (b) inside the ellipse but not at the
(b) 1 focus
(c) a+b+c (c) on the ellipse
(d) abc (d) at the focus

ADU-S-LET/81A 19 [ P.T.O.



55. T Wd @I, Sl y-31& <hl =omeds fosm o 58. 39 Iu 1 wHIRW w1 R, s feget (1, 0),

5 e &1 aEs FRdl ¥ AR -3y H (0, -6) 3R (3, 4) | BIH TRaAT 27
Yo e o WY 120° 1 IV =4 R, F 2 2

TefieRo = 27 (@) 4x“ +4y“ +142x +47y+140=0
(@ y+3x+5=0 (b) 4x? +4y? —142x-47y+138=0

b) y-+3x+5=0
®) v () 4x? +4y? -142x+47y+138=0
(c) y+J3x-5=0

d 2 2 = -
B i O (d) 4x* +4y* +150x -49y+138=0

56. 34 W@l & Wiy F=1 7, S g (2, 3) IR 59. Th N HHaw el fra fog (o b, o ¥ AW

W@ 2x-3y+7=0 9 Tx+4y+2=0 ST ® 3R 4l A HAY: A, B 3R C W
% Ufreoe-farg | Tt el 27 ledl 8| s OABC % ¥5 1 famgae, sl
O TAdw yferg ®, F=-41 ¥7
(@) 21x+46y—180=0
(a} f+£+fz
(b) 21x-46y+96 =0 a b c

() 46x+21y—-155=0

(d) 46x-21y—29 =0

57. 34 dHga w1 wHeem 7= R, e s iy
@ﬁgm,ﬁaax—ma%mq,amg

HR ole| en 4 e }? a b c
- 52 7y2= .
1024 64 60. 34 HHAS W U ¥ R, W GHddl
x+y+z=1 2x+3y+4z="7 6 yfa=da
) 49x2+7y2= W ¥ TR RO R @ oHad
1024 64 x—-5y+3z=5WTH &7
" 722 +49y2 it (@) x+2y+3z-6=0
1024 64 (b) x+2y+3z+6=0
2 2 (c) 3x+4y+5z-8=0
d) % gl 4
(. 1024 64 (d) 3x+4y+5z+8=0
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55. The equation of a straight line which cuts

off an intercept of 5 units on negative
direction of y-axis and makes an angle
120° with positive direction of x-axis is

(@ y+/3x+5=0
(b) y-J3x+5=0
(c) y+3x-5=0

(d y-+3x-5=0

56. The equation of the line passing through

the point (2, 3) and the point of
intersection of lines 2x - 3y+ 7 =0 and
7x+4y+2=01is

(@) 21x+46y—180=0

(b)
(c)
@)

21x-46y+96=0
46x +21y—-155=0

46x —21y-29=0

57. The equation of the ellipse whose centre

is at origin, major axis is along x-axis

with eccentricity g and latus rectum

58. The equation of the circle which passes

.through the points (1, 0), (0, -6) and
(3, 4) is

(@) 4x?+4y? +142x+47y+140=0
(b) 4x? +4y% -142x-47y+138=0
) 4x2+4y? —142x +47y+138=0

(d) 4x?+4y? +150x-49y+138=0

59. A variable plane passes through a fixed

point (g, b, ¢ and cuts the axes in A, B
and C respectively. The locus of the
centre of the sphere OABC, O being the
origin, is

@ Z+
a

4 units is
2 2
(a) 25 Vg
1024 64

60. The

equation of the

through the

line of

plane passing
intersection of

2 2
49x +_7:_y_=1

b
(b) 1024 64
2 2
(c) 7x +4"99‘ e
1024 64
2 2
@ X _+¥% =
1024 64
ADU-S-LET/81A 21

the planes x+y+z=1, 2x+3y+4z=7,
and perpendicular to the plane
x-5y+3z=2>5 is given by

(a) x+2y+3z-6=0
(b)) x+2y+3z+6=0
() 3x+4y+5z-8=0

(d 3x+4y+5z+8=0

[ P.T.O.



61. FeW y= 5% = yfaelm #4187

Ul‘

(@ x=yws, y>0

b} x=3"°;, y>0

() x=yms, y<O

(d x=5ny, y>0

62. T T Femgan fyifa §

x

fa={ Jx2’

o »

39t ®ed & Hed # Fefdfad 4 ¥ s-w
el 27

(@ f(x), x=0 R Had & g x=0 W
THEHT TE B

(b) flx), x=0 | Fad B8 & HY-HY
TTFHeT off 7

€ flx), x = 0 Fad 8

(d) 394 H § HIE T

x#0

x=0

63. Ifg y= (cosx)[cosx)[cosx}- g, @ % oo

R 27
Tl y? tanx
1-yln (cosx)
() y? tanx
1+ yln (cosx)
(©) y2 tan x
1-yln (sinx)
(d) y2 sin x

1+ yln (sin x)

ADU-S-LET/81A
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64. Trefafed w fo=m Fifsm -

1. x+x2, x=0W dHdd &

2, x+cos—]l, x =0 W 3HAd B
x

3 %2 +cosl, x=0WHIG B
X

ITE H A BH-8 T R
(@) Fad 1 AR 2
(b) Had 2 3R 3
(c) aa 1 3R 3

(@ 1,233

65. frifiad Herl W R 6T :
1‘Wﬁm%m%w%WW—
@1 6 yaorar odr B

2. G aft) TRt 9T F TROT W ST R,
aﬁja(t)dncwm%%naﬁmﬁa
T R

3. TG s(t) 99 ¢ | fFt %01 & foremm =
Wmﬁ,ﬁgsﬁwmw%

] ] WA HAT B
I A BH-T1/Y wod T /A
(@) ad 1 3R 2
(b) Fad 2
(c) Fad 1
(d) 1,233



61. The inverse of the function y=5"% is

|--
A

(@ x=yws, y>0

(b) x=y®>, y>0

1
(c) x=yms, y<o0

(d x=5Ilny, y>0

62. A function is defined as follows :
X

f={ 2’

Q

x#0

x=0

Which one of the following is correct in
respect of the above function?

(@) f(x)is continuous at x = 0 but not
differentiable at x =0

(b) f(x) is continuous
differentiable at x =0

as well as

(c) f(x) is discontinuous at x =0

(d) None of the above

- 0O

63. If y=(cosx)cos xfc0sx) , then Y i
dx
equal to
2
tan x
@ -—2
1- yln (cos x)

(b) y2 tan x

1+ yln (cos x)
(c) y2 tan x

1-ylIn (sin x)
(d) y2 sin x

1+ yln (sin x)
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64. Consider the following :

2

1. x+x“ is continuous at x=0

1 ) ’
2. x+cos— is discontinuous at x =0
X

A ;
3. x2 +cos— is continuous at x =0
X

Which of the above are correct?

(@) 1 and 2 only
(b) 2 and 3 only
(¢) 1 and 3 only

(d) 1,2 and 3

65. Consider the following statements :

1. % at a point on the curve gives
slope of the tangent at that point.

2. If a(t) denotes acceleration of a
particle, then J-a[t)dt+c gives

velocity of the particle.

3. If s(t) gives displacement of a

particle at time t, then % gives its

acceleration at that instant.

Which of the above statements is/are
correct?

fa) 1 and 2 only
(b) 2 only
(c) 1 only

(d 1, 2 and 3

[ P.T.O.



66. I]'E{ y= SCC_I (f+_1)+sin"l (JC—].J %, _Ch
X+1

x—1

Y S TR 27
dx
(@ O

(b) 1

x-1
x+1

(c)

x+1

(@ =5

67. _[tan‘1 (sec x + tan x)dx foreeh SRR 87

2

X | X
a —+—+
(& G+ he
2
X . X
b) —+—+c
) 2 4
2
(c) 1;_x+nx +C
2
X X
d —--—+c
@ -

68. (0, ) T TH Fer 39 THR Frefa §

1= x2 , 0<x<1 & fau
Inx , l<x<2 aﬂ%ﬂl
INn2-1+0-5x, 2<x<e % oI

fq =

e % ST AT f(x) F Gl & e §
¥ HE-91 T 27

(@ f'(x)=2x, 0<x<1% fog
(b) f’(x)=-2x, 0<x<1% fag
() f’(x)=-2x, 0<x<1% g
([d) f'(x)=0, 0< x <o TIY

DU-S-LET/81A 24

69. B f(x) = x(x — 1)(x + 1) F Fesf # Frafafaa
A ¥ PH-91 gdl 87

(a) TG ST 9H, T =Ead 7E 3§
EEIR

(b) T HiEHTH HH, T —EAH TH
BT ®

(c) S 1 w15 TIHT Afhan 7 |
(d) e F1 S T Zan T8 B

70. Tr=faRaa Fa1 W =R Fifse .

1. f(x) 1 ¥awas, TR fog g
Irfeaed # 78 € "ehar 2|

2. flx) = Eekers, fFd fag W afifim:
Afedca d B dehal B

3. flx) 1 ke, Tt forg W eafifi
(sfrcie &9 9) 8 g%l Bl

Iwdw § | FH-A HUT T &7
(@) Had 1 3R 2
(b) Fad 2 IR 3
(c) Fae 1 3R 3
(d 1,2 3R 3

In x

71. — = o 3Afeenaq 99 91 &7
b 4

(@) e

(b)

o=

(c)

oI

(d) 1



66. If y:sec‘1 [x+1]+sin_l (x—l}’ then
x—1 x+1

y is equal to
dx

(@) O
(b) 1
x-1
(© x+1
x+1
(@ x-1

67. What is jtan"1 (sec x + tan x)dx equal

to?

(a) %Tx+§+c
(b) %+%+c
(c) %+¥+c
(@) %—f;m

68. A function is defined in (0, ) by

2 for O<x=<1

l<x<?2
In2-1+0-5x for 2<x <o

1-x
In x for

flx) =

Which one of the following is correct in
respect of the derivative of the function,

fe.,; Fix)e

(@) f'(x)=2x for O<x<1
(b) f'(x)=-2xfor O<x<1
() f(x)=-2xfor O<x<1
({d) f'x)=0for O0<x <o
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69. Which one of the following is correct
in respect of the function

flx)=x(x=1(x+17?

(a) The local maximum value is larger
than local minimum value

(b) The Ilocal maximum value is
smaller than local minimum value

() The function has no local
maximum

(d) The function has no local minimum

70. Consider the following statements :

1. Derivative of f(x) may not exist at
some point.

2. Derivative of f(x) may exist finitely
at some point.

3. Derivative of f(x) may be infinite
(geometrically) at some point.

Which of the above statements are
correct?

(a) 1 and 2 only
(b) 2 and 3 only
(¢) 1 and 3 only
(d) 1, 2 and 3

1
71. The maximum value of it is
X

(@) e
(b)
e
@ 2
e
@ 1

[ P.T.O.



72. B f(x)=|x|-x3 2 76. jj“ 1+singdxmaew%?

(a) Tomm
(b) @w . (@) 8
(c) |9 AR fowm 1 {;)) g
(d) 9 em,q 8 oy
(c) 2
73. Af
(d 0
Ilzgx_(esinx)
sin (x+ h) _ _sin x
12=’3iinoe = = 77. | x|+ |y|= 15R TREZ &t fran 27
13=_[esmxcosxdx (@) 1A 3HE
d ot
(@ 1§ =1, (b) a;(fs]—lg R —
lydx =1 d) 1, =1
6 Jite=ts G~k (@) 23 o 3
74. %:?*Eﬁrmaﬁ@gﬂﬁmaﬁ
Y+ .
£ PRy e ¥, 7a.ﬁx®§a§ﬁmn@ﬂ%,aﬁnﬁﬁ%q
W ai B Wﬁnx“‘ AT 27
(b) a=-b=0
() a=b=#0, h=k (@) (0, 1)
(d a=b#0
R | (b) [0,1]
75. afg Hm SI0X _ g oy jim SOSX _ 2 @ 2
x—»—g- X X—e X
= 4 & 9-ur v 27 :
2 @ [0 3)
(@ I=1,m=1 (b I=E,m=oo
2
(c) I=E,m=0 ([d =1, m=eo (@ [0, 1
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72. The function f(x)=|x|- x3 is
(@) odd

(b) even
(c) both even and odd

(d) neither even nor odd

73, If
d ;
Il i _d:C'{ESID.X)
sin(x+h) _ _sinx
I, = lim £ =
h—0 h

I3 = jesmxcosxdx

then which one of the following is
correct?

(@ 1, #1, (b) %lls) s

() [laax=1p (d) l=1I3
74. The general solution of

wt:!_},!:cunc+h
dx by+tk

represents a circle only when

(a) a=b=0
(b) a=-b=#0
(¢ a=b#0, h=k
(d a=b#0

Cos X

75. 1f im 22X _jand lim
x—ba X X—= X

=m, then

which one of the following is correct?

2

(@ =1, m=1 (b) 1==, m=c
b1

) =2 =0 (@) l=1, =
mn

ADU-S-LET/81A 27

76. What is j{?n 1+sin§ dx equal to?

(@ 8
(b) 4
€ 2
(d o

77. The area bounded by the
|x|+|y|l=1is

curve

(a) 1 square unit
(b) 242 square units
(c) 2 square units

(d) 2+/3 square units

2

78. If x is any real number, then

1+x4

belongs to which one of the following
intervals?

(@ (0, )

@ (o 3)
@ [0, 1

[P.T.O



79. f(x)=[x]sin(nx) HF x=k W THEA 81. 37d%hel GHIEHW
ATheTS F1 8, 6l k TH IR & 3R [«]

HETH QIS G 87 [“[gxg)zrwpz[ggr

(a8 0" A 3t
(a) 3 3R 2

(B) () (k-1n b) 232
(c) 233

(¢ )*kn (d) 1313

(@ )5 lkn | 82, Il y=cos™! [1f’:2) 7, @ %%@;w
??

(@) - 22,¥{3ﬂ|x|<laﬁﬁﬂﬁ
1+ x
80. IR f(x)zg—l 8, @ i@ [0, H 5

frfafaa # @ m-ar w8 37 (b) —sz,wﬁ Ix|> 1% frg
(@) tan [f(x)], ST [] HETH TUIF BeH . 22=Hiﬁ|x|<1%m
Wiaﬁtﬁm% 1+x
f(x)
(d) Iudt T A S 7

(b) tan[f(x)], S [] HEwH qUifh G B,
-1 A
3R £~ (o) S e 83. 31 @l Togsll = ugem, e oM

| =V1-e™" st ¥, w-w 37
(c) tan[f(x)], Sl [] 7E¥ QU e §, flx)=Vl-e

AR —L 31 arad & (@) (0, )
f(x)
(b) (===, )
(d) tan[f(x)), <& [1-1 HETH Ui FeH R, (c) (==, 0) U (0, =)
W%,ﬁﬁmm% ) et )
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79. The left-hand derivative of

f(x) =[x] sin (nx) at x =k

where k is an integer and [x] is the
greatest integer function, is

(@ (~)*@k-1n
(b) ) k-n
) ()*kn

[d) ()% lkn

80. If f(x) =§- 1, then on the interval [0, 7]

which one of the following is correct?

(a) tan [f(x)], where [] is the greatest

integer function, and = E are both
fx

continuous

(b) tan[f(x)], where [-] is the greatest
integer function, and f “l(x) are
both continuous

(c) tan[f(x)], where [:] is the greatest

integer function, and T are both
%x

discontinuous

(d) tan|[f(x)], where [:] is the greatest
integer function, is discontinuous

but L is continuous
flx)
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81. The order and degree of the differential
equation

3 2
(Bl e L
=p
dx dx?
are respectively

(@ 3 and 2
(b) 2 and 2
(c) 2 and 3

(@ 1 and 3

82. Ify= cos™! [ ox J, then S—iis equal to

1+ x2
2
(@) — for all [x|<1
1+ x2
(b) - for all |x|>1
l+x
2
(c) for all [x|<1
145>

(d) None of the above

83. The set of all points, where the functios

fl=v1-e* is differentiable, is
(a) (0, <)

(b} (—o°, =)

(¢) (—==, O) (O, )

(d) (_ 1, °°)

[ P.T.C



84. ¥HH w1 WEH-1I % @iy ghfa AR o
gl % 99 g T F2 w1 W W EEh W

MY

-1 HEI-11

(wE) (arfermaw BT
A. sinx+cosx 1. 10
B. 3sinx+4cosx 2. A2
C. 2sinx+cosx 3. 5
D. sinx + 3cosx 4. /5
%e @
(@ A B Cc D

2 3 1 4

(b)

S e
W
0
w)

(c)

w >
N
0
o

¥l &
@ A B C D
3 8 @4

85. ;M f(x)=x(WVx —vVx+ 1) &, @ f(x)

(@) x=0R ¥dd g, fehrg Teereria el B
(b) x=0R TFAY B
(c) x =0T Fad Td &

(d) 3uge A A g T

ADU-S-LET/81A

86. fi= & ¥ FH-w1 U, el flx) ==, x#0
X
i Treftd ot 87

Y
N
+1
(a) < 5 > X
Yy
N
+1
(b) < = > X
-1
A4
Yy
+1%
(c) < 0’ > X
(d) 394 § | B¢ 7

87. W wAfsg for f(n)=[%+10”00]%, T [,

x % QUi feed o fafde & %) s am d

1000
Y fln) 1 HH 87

n=1

(@ 251
(b) 250
© 1

(@) O



84. Match List-I with List-II and select the
correct answer using the code given
below the lists :

List-1 List-II
(Function) (Maximum
value)
A. sinx+cosx 1. <10

B. 3sinx+4cosx 2, 2

C. 2sinx+cosx 3. 5
D. sinx+ 3cosx 4, «5
Code :

(@ A~ B C D

() A B C D
2 8 4 1
) A B C D
3 2 1 4

d A B C D
2

85. If f(x) = x(¥x —J/x+1), then f(x) is

(a) continuous but not differentiable at
x=0

(b) differentiable at x =0
(c) not continuous at x =0

(d) None of the above

ADU-S-LET/81A 31

86. Which one of the following grapt

represents the function f(x) = i, x # 07
X

y
M
+1
aj) <€ > X
(a) 5
y
A
+1
b) < > x
(b) =
-1
v
Yy
+1
C < > X
(c) =

(d) None of the above

87. Let f(n) = [ & . ], where [x] denot
4 1000
the integral part of x. Then the val

1000

of Y f(n)is
n=1

(@) 251
(b) 250
(c) 1

(d O



88. I(lnx)"ldx - _[(ln x) 72 dx Toreeh SR 7

(@) x(Inx)"!+e
(b) x(Inx)2 +c
(c) x(Inx)+e

(d) x(Inx)? +c

89. T HTg il I F R YE HFTFA T TGN Hoh
fom g8 919 U SR SR ! g T
5T ) Il SR e arftesaw w2, @
SR & =M, SR fl HEE B kAT ST
T1feT | 39 T A k FHT A T 27

(a) 1
(b) 2
(c) 3

(d) 4

90. qu/tanx dx+ﬁ\/cotxdx w1 A eEs
TR 87

o
(a) X

(b)

N|a

€ —=

(@)

NI

ADU-S-LET/81A
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91. HM WY g HEwH Uil Hed 81 39 <30 o

BT () = (g(x)? ~ g(x?) HeT @@ 27
(@) |t quiisi | |

(b) 0 IR 1% SrgaR vl iRt W

(c) O B wfi quifent W

(d) 17 Brgwt Gft qoTieR W

92, §HEW y= A[sin (x+C)+cos(x+C)] W

W= 3 A MR C F e (faega) @
e e e @ 3raeshe gt -9 87

(@) y”+(sinx+cosx)y =1
(b) y” =(sinx +cosx)y’

c y”'= (y’)2 + sin x cos x

(d) y“+y=0

93. f=fifled ol w faam Fifsw

hYd I

x>sin x, 9t x > 0% foiw

Yq 11

flx)=x-sinx Th IUIE %o &, 9
x> 0% fom

ST ot 5 wed § Frafifaa # @ -
w37

(@ FA 1 3N FH 11 S G E, q
A 1 1 Hel TIEHO FUF 11 8

(b) FU 1 R FF 1 A W O, T
U I, HF 1 I q&) TP & &

(c) HUF 1 ¥a 8, o oA 11 TTetd B
(@) HUA 17 7, Tobeg om 11 91 2




88. _[(lnx]_ldx— I{lnx]_zdx is equal to
(@ x(nx)!+c
(b) x(Inx)™2 +c

(c) x(nx)+c

[d) x(nx)?+c

89. A cylindrical jar without a lid has to be
constructed using a given surface area
of a metal sheet. If the capacity of the
jar is to be maximum, then the diameter
of the jar must be k times the height of
the jar. The value of k is

(@) 1
(b) 2
(c) 3

(d@) 4

90. The value of

eqanx dx+j§nq}cotx dx

is equal to

T
(@) 73

(b)

N3

€ 7=

(@)
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91. Let g be the greatest integer functio:

Then the function f(x)= (g()c))2 -g(x

is discontinuous at

(a) all integers

(b) all integers except 0 and 1
(c) all integers except O

(d) all integers except 1

92. The differential equation of minimu:

order by eliminating the arbitra:
constants A and C in the equatic
y= A[sin (x + C) +cos(x + C)] is

(@ y”+(sinx+cosx)y =1
(b) y” = (sinx+cosx)y’

(©) y”=(y)? +sinxcosx

(d) y“+y=0

93. Consider the following statements :

Statement I :
x>sin x for all x>0

Statement II :
f(x)=x-sinx is an increasir
function for all x >0

Which one of the following is correct |
respect of the above statements?

() Both Statement I and Statement
are true and Statement II is tt
correct explanation of Statement

(b) Both Statement I and Statement
are true and Statement II is not tt
correct explanation of Statement

(c) Statementl is true but Statement
is false

(d) StatementI is false but Statement
is true

[ P.T.C



94, 3dHd GHEH

dy _ yo'(x) - y?

dx o(x)
1 B 1 &Y
.
Lo o(x)+c

b)) y=3 .
X

) y=re
@ y=229
+cC

95. #fZ f( )_4’”"; 3R g(x):]n(
4x
‘cﬁfog(e_l)mrmq%a%w
+1
(@) 2
(b) 1
c) O
1
(d) 5
96. Grfi
l-a o-o0?2 o2
1-p p-p2 B2
Ik w9 &
%1 HH Tohash ST 2?

(@ @-BB-v-v)

(b) (€ -BB-V -

() -BB-y-o)e+p+y)
(@ o
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97. 3§

1 6 ;2
(b) | -2 1 4j|

(6 1 2
€ (4 -1 2

8. uﬁ:A=(_§ _2} 3, @ e 3 @ B
37

(@ A% =-2A
(b) A% =-4A
fc) A%2=-3A

(d) A2 =4A



94. The solution of the differential equation 97. The adjoint of the matrix
dy _ yd'(x)-y°

10 2
ax o(x) A=|2.1 0
s 03 1
%
a = :
(@ y W) e is
(b) y=%+c (-1 6 2
(@ | -2 1 -4
o) getRLYE 6 3 1
- L
9(x) .
b | -2 1 4
6 -3 1
4 L
95, It FE =222 ang g{x)=1n(l+x),
145> 1-
then what is the value of f og(e_lj 6 . 2
e+l
% e |4 =L 2
equal to? 6§ 3 -1
(a) 2
(b) 1 -6 2
¢ O @ | 4 -2 1
1 3 1 -6
d) 2
(d) 5
96. The value of the determinant 0. D
2 5 98. If Az[ ] then which one of the
-0 - o 2 -2
1-8 p-p% p2 following is correct?
1-¥ y-92 ¥°
(@) A2 =-2A

is equal to

(@ ©-BB-yi-y) (b) A% =-4A
(b) =B -V -a)

() —B)B-vy-o)c+B+7)
(62 (d) A% =44

(€ A%=-3A
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99. Re (z2 -1)=2, W&l i=+-1 & 3 Re
arEdfaer 39 B, SO ®9 9 W= el
TGS

(@ 9
(b) <
(c) SAFEATHR AR

(d) &

100. I p+gq+r=a+b+c=0%, q axfi

pa gb rc
gc ra pb
rb pc qa

ETCRCE S

(@) O

(b) 1

(c) pa+gb+rc

(d pa+gb+rc+a+b+c

101. @ gE§i AR A wikarsd § ¥ wH e QA
fwal il wm ey =g 0 R wffy o
Jereld: Ueh TR o 814 <hl 1 Wifdendn 7

1
(a) g

(b)

Wl

(c)

Wl

()

[\ )l 'S
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102. ¥ wifST 6 % 9@ =) 39 TR o Srar & 6

W Bl & AH Il G, v el %
E H GIEA § P B SE IR B e
AT/, W AN &A1 % I s WTRreRdl #9491
77

(@)

W=

(b)

wN

(c)

©o|P

(d)

o lun

103. A <ifvg wfiesl wufE 50 @& FO@ T

el ¥ 591 7, X 34 wemed w5 [ffE ww
BS 3 F P & 3R v fawm wenadt ) fifde
& 8| B W § B/ wd /87

i P(X)=35

N|= N

2. P(Y)=

= fog e e w1 wE W IW ghw
(@ Fad 1

(b) FHad 2

(c) 13 2TA

(@ /1,82



99, Geometrically Re (32 -1)=2, where 102. Let a die be loaded in such a way that

i=+=1 and Re is the real part, even faces are twice likely to occur as
represents the odd faces. What is the probability
that a prime number will show up when
(a) circle the die is tossed?
(b) ellipse 1
(a) 5
(c) rectangular hyperbola
(d) parabola
) 2
3
100. If p+g+r=a+b+c=0, then the
determinant
@ 2
pa gb rc 9
gc ra pb
rb pc qa 5
d =
(d) 9
equals
(a) O
103. Let the sample space consist of non-
(b) 1 negative integers up to 50, X denote the
numbers which are multiples of 3 and
(c) pa+aqgb+re Y denote the odd numbers. Which of the

following is/are correct?
(d pa+gb+rc+a+b+c

8
1. PX)=—
(X) 5
101. A committee of two persons is selected
from two men and two women. The 2. P(y):_l

probability that the committee will have
exactly one woman is

Select the correct answer using the code

1 .
(a) % given below.
2
(b) 3 (@) 1 only
1 (b) 2 only
(c) 3
(c) Both 1 and 2
1
d -~ .
2 (d) Neither 1 nor 2
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104. &1 "zTel A 3R B ¥ faw, mm i 106. T 7 2 76 15 Y&on % v uftest & @R

p(A),-_l, p(AuB)zg 3 P(AmB)=l ey 3R A e HEm: 24 3R 0 %l
2 8 6 st § Ty B U de B R o
R P(A ~ B) fras stmr 87 e 3§ - 27
0
(@) é (@)
(b) 8
(c) 16
® o @ 24
107. P # @ F9-91 x W y & GHHAY O IR
() % y T x % FEHEY U F WH w1 g I
T ST Fehell 27
. (@ (1, )
g ) (-1, )
@ (-3 2
105. frfafea el w foem A : (@ (1 E]
1. faRon i, =R % A g P e
Al Bl
2. Y@ (W), uftarer it T 9 B | 108. #F @i 7% A iR B @ " %, e fog
3. wWeE e 99 SOed B §, o PlA)=% P(B)=é 3R P(AﬁB)=1—12- 2
Hael 1 3R 2
(a) (b)%
(b) Faet 2 371 3
5 1
(c) g
(c) a1 3R 3
1
(@ 1,23R3 @ 1o
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104. For two events A and B, let P(A]=l, 106. Given that the arithmetic mean and
2 standard deviation of a sample of

p(AU3]=g and p(AmB]=l_ What is 15 observations are 24 and 0

3 6 respectively. Then which one of the

following is the arithmetic mean of the
smallest five observations in the data?

P(A N B) equal to?

1
({I} = (a} 0
(b) 8
|
b) — c) 16
(b) 3 (c)
(d) 24
1
(c) 3 107. Which one of the following can be
considered as appropriate pair of values
of regression coefficient of y on x and
(d) 1 » regression coefficient of x on y?
2
(@ (1, 1)
) (-1, 1)
105. Consider the following statements : () [ 1 2)
C =
2

1. Coefficient of variation depends on

the unit of measurement of the » 1 10
variable. (d) 3 3

2. Range is a measure of dispersion.

108. Let A and B be two events with P(A) =

W=

Ed

3. Mean deviation is Ileast when

measured about median. P(B) = 1 and P(AnB)= 1_12 What is

Which of the above statements are P(B|A) equal to?
correct? (@ 1
a L,
S
(@) 1 and 2 only (b) &
7
(b) 2 and 3 only
1
(c) 8
(¢) 1 and 3 only
1
(d) —
(d 1,2 and 3 10
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109.@%1?:%&2?{13141&1%%@(%@2%1@

FaA T URma e fF X =2 87
S
36
25
36

25
216

25
54

(@)
(b)
(c)

(d)

110. FFel siqwme W U e o FAEE YgE
ﬂTﬁW%%I 5 WESI A # FHH-8-FH
4 eIl % Il G ugEn W Wik &
Bf?

(a) d

243

10
243

11
243
13
243

(b)
(c)

@)

111. =58 WiRehal = & T 9 =Rl & o oy o
¥ FH-Y-FH 2 ARk T & 7 | 91 §¢ 9
(ad ) ?

33
a e
@ 123

17
L =

1
(c) 144

2
@ 5
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112. 58 e mn § % X =10, ¥ =90, 64 =3,
Oy =12 3R ryy =08 Bl ¥ W X &
I FHISH 1 BN
(@ Y =3-2X+58
(h) X=3-2Y+58
(cf X=-8+0-2Y
(d) Y=-8+0-2X

113. Afg P(B)=4§, P(AmBmE)=% 3R

P(ZmBmE]zé ?, @ P(BnC) fres

TR 87
1 3
(a) 15 (b) 5
1 1
(c) 15 (d) 9

114. F=fafea aroft § 9 gfEr & oifts =@ Ry

MR
=g (F 1)

ue URar A Ui B
Ml 3,500 2,700
ERS| 500 800
ot 1,500 1,000
e 2,000 1,800
CIEE 2,500 1,800

T el & e W % R, B A A
fre T eEE g9 A el W g
BT

(@) 11

(b) 10 :9

(c) 100 : 91

(d 5:4



109. In a binomial distribution, the mean is 4 112. It is given that X =10, ¥ =90, o4 =3,
3 oy =12 and ryy = 0-8. The regression

and the variance is -g What is the equation of X on Y is
probability that X =27? (@ Y =3-2X+58
(@) 3_56 () X=3-2Y +58
fc) X=-8+0-2Y
25
(b) 56 (d Y=-8+0-2X
25
€ 516 113. If P(B) =§, P(AnBATC) =% and
(d) % P(ANnBNC)= %, then what is P(Bn C)
equal to?
110. The probability that a ship safely reaches (@) 1 b) 3
d JRE—— —
a port is 31— The probability that out of 12 4
S5 ship?;, at least 4 ships would arrive (c) i (d) l
safely is 15 9
{a} __]_'_
243 114. The following table gives the monthly
10 expenditure of two families :
(b) 5an
24 : Expenditure (in )
(c) % Items Family A | Family B
Food 3,500 2,700
) L2 :
(@ z2= - Clothing 500 800
Rent 1,500 1,000
111. What is the probability that at least two Education 2,000 1,800
persons out of a group of three persons :
were born in the same month (disregard Miscellancous 2900 1,800
year)? In constructing a pie diagram to the
33 above data, the radii of the circles are to
(@) 144 be chosen by which one of the following
17 ratios?
(b) —
72 77 i
1
— b) 10 : 9
(c) 144 (b)
0 (c) 100 : 91
g =
(@ 9 (d 5:4
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115. It @ =W % AF O, 1, 2, 3, ..., n HHI: 118. F=fafaa waE w fomr Hifs ;

G 1. e, Heitg Rad ot ehel qRedd @
1, Cln, 1), Cn, 2), Cn, 3), ..., C(n, n) YT & B |

% T U §C ¥, A HEIGR H1EA F Em? 2. TERY e, e gfe ¥ wan fa

(@ 2n 2

(b) n+l 39 wYAl A § FH-|1/8 9l /T

L (@) e 1

(@ =
2 | (b) Fa 2

116. TH wgfosedia qian A wh whanedl @1 @ @@ (c) 1323
I S & R wifiswa p @ W g m
o ® foeeh wifieRar 1- p B) R 9 Faw (d) F 1,982

IAF A B, A YH H IW e A

-
;%wﬁqﬂwﬁr@;mmmuﬁ 119. 1, 3, 5, 7 3R 9 Fe == ufs sfeal € T ¥

I B, @ 98 Wiehar w1 B T 98 w=ma T ¥ dF sfeal ag=sw g W 2 '
I ST &7 wiResar &1 ® 6 T K oftal w Byw s
@ TP Hehdl 87

1+mp

(@) 05

b — TP

1+(m-1p (b) 04

(m-1)p
(c) 1P (c) 03

+mp

117. AR x; R x, oEE TR E, Qo ww 120 FEwSH TS OB, A TR 0

g 3 Ui Hie % ofi " H W 1 R 02 ¥R 1-8 77
a1t 8 o1 yfey &1 dm? g
(@ x;+xy>2[x1x,
(b) 0-2
B) R+ > 2
(0) |Jx; - x5 |>~2 () 06
(d) x;+x5 <2(Jx3x5 +1) @ 09
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115. If a variable takes values O, 1, 2, 3, ..., n

with frequencies
L, €n 1), Cn, 2, Cn, I); .., C(n,; n)

respectively, then the arithmetic mean
is

(a) 2n
(b) n+1
fc) n

n
(d) 5

116. In a multiple-choice test, an examinee

either knows the correct answer with
probability p, or guesses with
probability 1—- p. The probability of

2 : 5o AL
answering a question correctly is —,
m

if he or she merely guesses. If the
examinee answers a question correctly,
the probability that he or she really
knows the answer is

(@) ——
1+mp
mp

(v) 1+m-1)p

(m-1p

(c) 1+m-1)p
+mp

117. If x; and x, are positive quantities, then

the condition for the difference between
the arithmetic mean and the geometric
mean to be greater than 1 is

(@) x;+xy9 >2/x1x,
B &+ %5 > 2
(©) Ix =[xz |>+2

(d) x;+xg <2(Jx1x5 +1)

ADU-S-LET/81A 43

118. Consider the following statements :

1. Variance is unaffected by change of
origin and change of scale.

2. Coefficient of variance is
independent of the unit of
observations.

Which of the statements given above
is/are correct?

(@) 1 only
(b) 2 only
fc) Both 1 and 2

(d) Neither 1 nor 2

119. Five sticks of length 1, 3, 5, 7 and 9 feet

are given. Three of these sticks are
selected at random. What is the
probability that the selected sticks can
form a triangle?

(@) 05
(b) 04
(¢ 03
(d) O

The coefficient of correlation when
coefficients of regression are 0-:2
and 18 is

(@) 036
) 02
(c) 06
d 09

[ P.T.O.
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